VCE & PDF https://www.passapply.com/5v0-22-21.html
2024 Latest passapply 5V0-22.21 PDF and VCE dumps Download

PassApply.com

5V0-22.210%As

VMware VSAN 6.7 Specialist

Pass VMware 5V0-22.21 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://lwww.passapply.com/5v0-22-21.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by VMware
Official Exam Center

After Purchase

Guarantee

Free Update SKTISFACTION GUARANTEEp
Satisfied Customers

Q00O

Latest 5V0-22.21 Dumps | 5V0-22.21 VCE Dumps | 5V0-22.21 Exam Questions 1/3


https://www.passapply.com/5v0-22-21.html
https://www.passapply.com/5v0-22-21.html
https://www.passapply.com/5v0-22-21.html

VCE & PDF https://www.passapply.com/5v0-22-21.html
2024 Latest passapply 5V0-22.21 PDF and VCE dumps Download

PassApply.com

QUESTION 1

Which two requirements should the vSAN administrator consider in order to accomplish this goal? (Choose two.)
A. A leaf spine topology is required for core redundancy and reduced latency.

B. NIC teaming must be implemented for the vSAN network vmkernel port.

C. The configuration must meet the same latency and bandwidth requirement as local vSAN.

D. Encryption must be disabled prior to configuring HCI mesh.

E. Either Layer 2 and Layer 3 communications can be used.

Correct Answer: BE

QUESTION 2

What os the maximum number of 2-node clusters that can share a vSAN Shared Witness host in vSAN 7.0 U1?
A. 64

B.1

C. 128

D. 32

Correct Answer: A

QUESTION 3

An organization wants to configure a new storage policy based on the following requirements:

Failures to tolerate = FTT 1/RAID-5 (Erasure Coding) Number of disk stripes per object = 8 IOPS limit for object = 0
Object Space Reservation = Thin provisioning Flash read cache reservation = 0% Disable object checksum = No Force

provisioning = No

The administrator creates the policy using storage policy based management and assigns it to a 100GB virtual machine
on a 4-node VSAN cluster to test the results of the new storage policy.

How many components will be created per host for the storage objects of the virtual machine on the vSAN datastore?
A 2
B.1
C.8

D. 32
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Correct Answer: B

QUESTION 4

Which state is NOT a compliance status of a VM Storage Policy?
A. Compliant

B. Noncompliant

C. Stale

D. Not Applicable

Correct Answer: C

QUESTION 5

An administrator has discovered that space utilized by VMs does not decrease after deleting files and folders within the
VMs. The administrator needs to be able to reclaim this space.

Which action could the administrator take to accomplish this task?
A. Disable Storage I/O Control for the vSAN cluster.

B. Reboot the VM to recreate the swap file.

C. Set the Object Space Reservation rule to 100%.

D. Enable TRIM/UNMAP for the vSAN cluster.

Correct Answer: D
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